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(i) (cm) (cm) | K%k (KL /i) (kg/10a) (#k/10a)
LBk FEXNE 7.2 4 FEIE R & 30.0 | &:4& - 255 - -
2. FFENE 6.0 4 FEIE R & 30.0 | &:4& - 340 - -
3.8965ZL0 11.2 3 BB 2 A FE 75.0 | 17.8 1 - - 7,491
4. K 52 9.6 3 R = 1E 60.0 | 20.0 2 - - 8,333
5. /) 52 9.6 3 R = 1E 60.0 | 20.0 2 - - 8,333
6. 3% 52 9.6 3 kR = 1E 60.0 | 20.0 2 - - 8,333
7.0V x 37.8 3 PRI X A Z 75.0 | 30.0 1 - - 4, 444
8. TAS 39.6 3 B e A X A 60.0 | 23.8 1 - - 7,003
9. 4 . ]
2.7 4 PEIEZ A 30.0 | &:4& - - 2.0 -
(FEv—)
10. =FERE 10.0 2 TEhE 30.0 | 10.5 1 - - 31, 750
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itg I & (kg/10a)
l(ZES fii %
N P,0; K,0 MgO HE e Z D1t
1Bk EENE 6.0 20.0 9.7 3.8 A MBI N:3.0
2. BEXNE 10. 0 18.0 12.0 5.0
3.8965ZL0L 14.0 22.0 12.0 4.0 3,000 AN 150
4. K = 1.8 15.0 7.8 3.0
5. /) = 4.0 20.0 11.2 4.0
6. 3¢ 52 4.0 20.0 11.2 4.0 H2THE XD T
7.0V x 8.0 20.0 14.0 5.0
8. TASW 14.8 29.6 12.1 6.7
9. B LN 24 H HHh
15.0 15.0 15.0 3.0
(FE—) 4F [ 318 45 fi
10. -Fh& 15.0 15.0 10.0 1.3




